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Bh pa Hi S HAL | Bl fisi =

IR F YRR E VAV 1:58 A ke 457| H1[X.0
G2 e 22 1 A 1 ke 38[H1X0
FEEH I 2o L (B it 1) AT FEREC DU R AR m3 7,540(H1X0
X R R 1 LG 0 M E) FEHR15em A m 310|H1[X0
X AR T T (R A ) el Fo e 30T 15em A m 540|#1X.0
B 2 (LIS OB I AR Gr-A—4E m 1,090 #1[x0
B B (LIS OB HE N AR Gr-B-4E m 1,100[#1[x0
B 2 (LIS OB I AR Gr-C-4E m 1,090 #1[X0
B 2 (LIS O B HE I AR Gr-Am-4E m 1,700[#1[X0
B 2 (LIS O B N AR Gr-Bm-4E m 1,700[#1[X0
B B (LIS OB N AR Gr-A-2B m 1,090 #1[x0
B 2 (LIS OB HE I AR Gr-B-2B m 1,100[#1[x0
B 2 (LIS O B N AR Gr-C-2B m 1,100[#1[x0
B 2 (LIS O B I AR Gr-Am-2B m 1,700[H#1[X0
B 2 (LIS O B N AR Gr-Bm-2B m 1,700[#1[X0
B B (LIS OB HE N AR Gp-Ap—2E m 1,000 #1[x0
B B (LIS OB N AR Gp-Bp—2E m 1,040(#1[x0
B 2 (LIS OB HE N AR Gp—-Cp—-2E m 1,000 #1[x0
B 2 (LIS OB I AR Gp-Ap—-2B m 980|#1[x0
B 2 (LIS O B HE N AR Gp-Bp-2B m 1,020 #1[x0
B 2 (LIS O B N AR Gp-Cp-2B m 1,030[#1[x0
SATE B RAM AU OBEMERE  [P2-P2-3E LHERER m 520 H1[X0
SATE B RM AU OBEMERE  [P2-P2-3B 2v/)-MR[ED H m 550 H1[X0
SATE B ERM AU OBEMERE  [P2-P2-3B #rvr)—- A m 550 H1[X0
HATH AERH M A AU ORI NELE  |P1-Pk-3B m 540|H1[X0
AT B RS R A LA OB N AE P1-Pp-3B m 730|H1[X0
BATHE BEGERAM A AU OBEMERE  [P1-Pp-3B Ay S—H m 790|H1[X0
SATE B ERM AU OBEMESE  [P1-Pp-3E m 840(H1[x0
SATHE B RM AU OBEMERE  [P1-Pp-3E Abv/R—H m 900t [X0
i W m3 3,300(H1X 1
i W m3 3,000(HtX 2
i W m3 3,300(HtX 3
i W m3 3,000 (1 X 4
i W m3 3,300|HtX 5
i W m3 3,300|Ht X6
i W m3 4,550|#1 X7
i W m3 4,400|#hX 8
i W m3 4,200|#11X9
i W m3 4,550[H1[X 10
i W m3 4,900[#1x 11
i L) FH D m3 3,500 H X 1
i L) FH D m3 3,200| H1[X 2
i L) FH D m3 3,500| H1 X3
i L) FH D m3 3,200| #h[X 4
i L) FH D m3 3,500| H1[X 5
i L) FH D m3 3,500| H1[X 6
i L) FH D m3 4,750  Hu[X 7
i L) FH D m3 4,600 11X 8
i L) FH D m3 4,400/ H1[X9
i L) FH D m3 4,750[#11X 10
i L) FH D m3 5,100|#1X 11
TAT7VNEA Y BRI 175 231X t 11,700|#11X1,2,3,4,5,6
TAT7IVNERE BRRL 145 L EEAHIX t 12,000|Hh X7
TAT7IVNERE BRRL 145 R EEBHIX t 12,000] X8
TAT7 VMRS BHkL 15 BT H t 11,600]H#1[xX9
TAT7IVNERE BRRL 175 PHZEEAHIX t 12,000|#1[%.10
T AT 7 IVNERAE BRRL 175 P EEBHIIX t 11,800(#1% 11
BB ANV FLERY AV L 114|H1[X0
Az )b 7k H FIBB302C m3 13,000 #1X 1
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e ) —h 7K F FIBB302C m3 13,000] 1 [X 2
e ) —h 7K F1 FIBB302C m3 11,000/ Hh1[X3
e ) —h 7K F1 FIBB302C m3 11,000 H1[x 4
e ) —h 7K F1 FIBB302C m3 11,900/ H1[X5
e ) —h 7K F1 FIBB302C m3 11,100| H1[X6
e ) —h 7K F FIBB302C m3 12,800 Hh[X 7
He ) —h 7K F FIBB302C m3 12,800 Hh1[X8
e ) —h 7K F FIBB302C m3 11,400| H1[X9
e ) —h 7K F FIBB302C m3 12,800|#11X 10
He ) —h 7K F FIBB302C m3 12,800 H1[X 11
He ) —h 7K F FIBB302D m3 13,100[H#11X 1
He ) —h 7K F1 FIBB302D m3 13,100 Hh1[X2
A ) —h 7K F1 FIBB302D m3 11,100|#1[X3
A ) —h 7K F FIBB302D m3 11,100|#1[x4
He ) —h 7K F1 FIBB302D m3 12,000| #1[X5
He ) —h 7K F1 FIBB302D m3 11,200/ H1[X6
He ) —h 7K F1 FIBB302D m3 12,900 Hh[X 7
He ) —h 7K F FIBB302D m3 12,900/ Hh1[X8
He ) —h 7K F1 FIBB302D m3 11,500/ #1[X9
e ) —h 7K F1 FIBB302D m3 12,900| #11X 10
He ) —h 7K F1 FIBB302D m3 12,900 #1[X 11
Hea ) —p Al FHH 45 m3 15,600 H1[X 1
Hea ) —p Al FHH 45 m3 15,600| 1 [X 2
Hea ) —h Al FHH 45 m3 13,600| 1 [X3
Hea p)—h Al FHH 45 m3 13,600| 11X 4
Hea p)—h Al FHH 45 m3 14,500 #1[X 5
Hea p)—h Al FHH 45 m3 15,400 H[X 7
A p)—h Al FHH 45 m3 15,400 #1[X 8
Hea p)—p Al FHH 45 m3 14,500 #1[X9
e p)—p Al FHH 45 m3 15,400[ #1110
e p)—h Al FHH 45 m3 15,400[#1X 11
Aoy —h RN 242M  W/C55%LL F m3 12,900|#11X 1
Aoy —h R, 242M  W/C55%LL F m3 12,900|Hh X2
Ao ) —h R, 242M  W/C55%LL F m3 10,300|H1[X3
Aoy —h RN 242M  W/C55%LL F m3 10,300|#h X 4
Aoy —h R, 242M  W/C55%LL F m3 12,700 H11X 5
Aoy —h R, 242M  W/C55%LL F m3 10,800| 11X 6
Aoy —h R, 242M  W/C55%LL F m3 12,500| 1 [X 7
Aoy —h L 242M  W/C55%LL F m3 12,500| 11X 8
Ao y)—h R, 242M  W/C55%LL F m3 11,100 #11X9
A ) —h R, 242M  W/C55%LL T m3 12,500( #1110
Aoy —h RN 242M  W/C55%LL T m3 12,500(#1[X 11
YAV MLERR A m3 7,600(H1[X 1
YAV MLERR A m3 7,900 (1% 2
YAV MLERIR A m3 7,600(H1[X 3
YAV MLERIR A m3 7,600(H1[X 4
YAV MLERIR A m3 7,600(H1[X 5
YA MLERR A m3 7,600(H1[X6
YA MLERR A m3 6,900 ([ 7
YAV MLERIR A m3 6,900( 11X 8
YAV MLERR A m3 6,900(H1[X9
YAV MLERR A m3 6,300[H#1[X 10
YAV MLERR A m3 6,300(H1[X 11
B J51% JE10~30mmPN4t m2 8,800 H1[X0
BEA E(L)ZB JF10~30mmPsh X ¢ 200~ |, 4,300|Hs[%0
/WA 1Eh (180" 100mm & 51| H1[X0
7= A7) =8 uy ) 300 X 300 X 600 1 2,050 (1 X0
7= A7) =8 uy ) 300 X 300 X 700 1 2,390(#1X0
BH M7V AN LA 300 X 300 X 400 {E] 1,360 X0
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)= R T ny s S -2N] 100X 100X 600 1A 420 H1[X.0
ay ) MER T ny s [HE 1 ] 155- 1 A, 7'0y/ E60cm m 2,750| H1[X0
ay))—MER T ny s & 1 ] 205 1 BUA, 7'my/E60cm m 3,440| 11 X0
AR B ARk ) — b ey HBATHEREW A B 155 R 1E 1,500| H1 X0
AR B ARk ) — b ey HATHEREW A B2 155 R 1E 1,120|H1 X0
HRHGEBE SRRV /) -7 By ) HATE RN B3 1554t JE] 7901 1X0
AR B Rk )= b ey HATHEREW A B4 205 R 1 2,120| H1 X0
AR B ARk ) — b ey HATHREW A E5 205 AR 1 1,520| H X0
HRHGEBE SRRV ) -7 my ) HATE RN B6 205 At JE] 990|#t1[x0
R R L = ALY HE AN C1 1654 JE] 1,750 #1[X0
HRHGEBE SRRV /) -7 my ) HIE AN C2 1654 JE] 1,260 Hu[X0
HRHGEBE SRRV /) -7 my ) HE AN C3 20514 JE] 2,240(#11X0
HRHGEBE SRRV /) -7 my ) HIE AN C4 20514 JE] 1,620 Hu[X0
HRHGEBE SRRV /) — b7 my ) HIE AN AL 1554 JE] 1,250 #1[X.0
RHGEBE SRRV ) -7 my ) HIE AN A2 205144 JE] 1,710|H#1[X0
HRHGEBE SRR )7 my ) 3 AU A3 155-1 4} 1] 1,570[#1 X0
HRHGEBE SRRV Y- my ) 3 AU A4 205-1 4} 1] 1,970[# X0
HRHGEBE SRRV /) — b7 my ) H3E A Bl 155 ¢ {E] 770|H11X0
RHGEBE SRRV /) — b7 ay ) H3E AL B2 205 ¢ {E] 920 [x0
HRHGEBE SRRV )Y -7 my ) HL3E AN B3 205-155-1 % 1 1,530[# X0
HRHGEBE SRRV /) -7 ay ) HATERIN A AL 1554 JE] 1,350 #1[X.0
HRHGEBE SRRV /) -7 my ) ATERI A A2 205 JE] 1,950| #1[X.0
RHGEBE SRRV /) -7 my ) HATE RN B1 155 %L {E] 840 [x0
AR ELE S ARk ) — b ey HATHERENT A B2 20541 (& 1,110{H1X0
HRHGEBE SRRV /) — b7 By ) HATERTA C1 155 JE] 670|H1[X0
SRHE R R R )N ay ) HATEAEETH C1 155 i | W 870|H1X.0
RHGEBE SRR 1) -7 my ) ATHEREW A C2 205/ 1 790|111 [X0
SREGE SRR R )b ey ) HATEAEET A C2 205 dhig i [ 1# 1,030| #1[X.0
HRHGEBE AR RV /)t my ) ATERWTA D1 1554 1E] 1,370| #1[X0
HREGE SRR )b ey ) HATEREWT A D1 1554 dhi il | M 1,780| H#1[X0
HARELE S AR R )= ey HATHREW A D2 205 4 i 1,740| H#1[X0
HREGE SRR )b ey ) HATEREWT A D2 20543 dhi il | M 2,260(H1X0
RHGEBE AR R /)7 my ) HIE AN 4D1 15544 1E] 1,700/ H1[X.0
HREGE SRR )b ay ) B3R AN 4D2 155 &) 1 1,500 H#1[X0
HRHGEBE AR R /) -7 my ) H3E AN 4D3 15544 {E] 1,260 H1[X.0
HREGE SRR )b ay ) B3R AN 4D4 155 &) 1 1,070| H#1[X0
RHGEBE AR R /) -7 my ) HATERW A 51 1554} 1 1,700 1[0
HREE SRR )b ay ) HAT AT 5F2 1554} [ 1,470| #1[X.0
RHGEBE AR R ) -t my ) HATERWT A 513 1554} 1 1,260| 1[0
HREE SRR )b ay ) HATHE AT 5F4 1554} & 1,030| H#1[X.0
RHGEBE ARk /) -7 my ) HATE R 505 1554} {E] 790|111 [X0
HREEBE )b ay (i 1 ) A 150/190 X 200 X 600 1 880t [X0
HRELEBE R ) — b7 ny ) (7 1 ) A-SFOK %) {E] 1,140 Hu[X0
HREEBE R a7 — N7 ey (i ) A-SF1 H.3E AUH 1l 880/ H1[X.0
HRELEBE R )b ay ) (7 16 ) A-dEARH, TOEEERA {E] 1,200| Hu[X.0
7V AMETE LY 7 ) - MR 150 X 665 X 2000[155 7] m 5,880| 1 [X.0
7 VR AMETE L HERER /) - MR 150 X 665 X 2000[ 155 /1 m 8,820(H1[X0
7V AMETE L 7 - MR 150 X 745 X 2000[155—1 FH] m 6,540| H1[X.0
7 VR AMEE 17 8y /[155] — B - B m 9,330(#1X0
7V AMEE 27 ay)[155] — W - B0 T R - Bl m 12,100|#1X0
7V AMEE 17 8y/[155-1] B AFHY) T m 14,400|#1X0
TV AMEE X7 By (=7 B - =7 0 5220 m 8,640[#1]X0
A K OV HAs F 20 ) =47 my ) 48 150 X 180X 300 ] 39011 [X0
B ) —-MNERILT vy %y 7 100 X 100 X 900[B2 X 1 C2] 1] 1,920|#1X.0
itV B Y - FEHEER FIT A & 2,190 Hu[X.0
HpgLAtiay )7 ayy B IEE R BT 1l 2,890 H1 X0
ka7 - N H 572 A2-240, 1F&330 X 600 X 45 b'e 1,000 (H#1X0
BB ) NUJE A STz A2-300, 178400 X 600 X 60 K 1,480 (H1 X0
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AR O A BN A2-360, 17E460 X 600 X 65 K 1,590|#1X.0
kA7) - N H 572 A2-450, 1F&560 X 600 X 70 % 2,170|#1X0
YA O A BN A2-360, 27460 X 600 X 100 K 2,130 H1[X0
ka7 - N H 572 A2-450, 2F&560 X 600 X 120 % 3,060 H#1[X0
AR O A BN B-240, 178&, 320X 600X 45 K 1,000|#1X.0
B 7)—- U H 572 B-300, 17, 380X 600X 60 b 1,200(#1[x0
YA O A BN B-360, 17&, 440X 600X 65 K 1,560|#1X.0
B 7)—- U H 572 B-450, 17, 530X 600X 70 b 2,130|H11X0
B ) U R STz B-240, 27&, 320X 600X 100 K 1,420|#1X.0
BB 7)) - U 572 B-300, 2%, 380X 600X 100 # 1,700|#1X.0
BB ) UJE R 572 B-360, 27&, 440X 600X 100 K 2,060[H1 X0
Eripa ) - U 572 B-450, 2f#, 530 X600 X 120 # 2,900 [H1 X0
B2 ) UJE R 572 B-300, 37&, 380X 600X 120 K 2,340[H1 X0
B ) - U 572 B-360, 3%, 440 X600 X 120 # 2,850 [H1 X0
B2 ) UJE R STz B-450, 37&, 530X 600X 120 K 3,480 [H1 X0
B 7)—MEERLIE I A 6504 L7150 1] 5,950| #1110
Efa 7 —MEERLTE 7% 6807 _E15200 {E] 6,880 H1[X0
B 7)—MEERLIE I -A3 650/725 X 220 X 600 1# 5,750(#1X.0
B ) MERLIE I -B3 725X 220 X 600 1 5,590(H1[X0
B 7 - M BRLIB X E] U240 340 X600 X 155 1A 1,870 #1[X.0
ER2 ) - MEERLIE /] UTE300 8 400 X 600 X 155 {E] 2,210[H#1X0
5 ) )M BRI 5 I 7365 490 X GO | gy 6,010| 10
HE T HAEKETHIL10578HE] JRERZ4H2E ] 665X 600X 100 {E] 9,800(#1X.0
Ay K ETRIL1057UhE] TECER 5iliE F 665 X600 X 20 JE] 10,500 (#1110
i x K ETBIL [155] A5EY) T 665X 600X 20 JE] 8,660|H1X0
A& K EIB3E[155] 90D F ¥ 665X 600 JE] 9,110(#1X0
H& AR K E 3 IL[155 A BL6%] —J A 665X 600X 150 1E] 7,910[#1X0
A& X HAEAKETHIL1552)BL6%] HLIE ANUH 665X 600X 20 18 7,910[H#1[X0
& AR K E3 (W i H)[155A —f%F 680X 600X 150 JE] 9,650 H1X0
A& AR E TR i H)[155A B3 AU 680X 600X 20 JE] 9,840 #1[X.0
A7E x K £ f3 (W m FH)[155A IR S — OB S) &) 11,900 H1 X0
Ay x AR EI 3R i ADI155A IRERS 5 A SR (&) 1 12,300 1[0
HrE x K E 9 f3 (W m FH)I155A IRER S a2 IR ANHODS) | M 11,900 #1[X0
Ay r K ETRIL1557UhE] R 5l A 665 X600 X 150 {E] 9,800|#1[X0
HE T HAEKETHILL155 78 E] JRER S 4H2E FH 665X 600X 20 1E] 9,800 (1 X.0
i AR 557 %) BCHRECHIEIE TOD0 R 6652y | 10,600[ix0
& xR KEIRIR155AF6%] IRBRE AN — AR X) &l 9,800 H1X0
iy x K ETIR155AF6%] KR EHEA FRANHGX) | | 9,800|#1[x0
& x 4R KE13R[2058] JV-OUFE 700 X 700 & 11,900| H1[X0
HE X HEKETHI205B/UHE] ERBRE&H2E ] 700X 700X 200 1A 12,200|H11X0
HE T HAE K ERIL[205B7¢H ] JRER S 4H2E ] 700 X700 X 20 & 12,500 #1 X0
% 2 K 20587 ] IERRSR TOOUM 00X g 13,400| 10
FepRE K E TRl HEA T, M4k 370X 100X 600 | & 4,900(#1 X0
7 VR AMETE X AR K ETHRIE [155] &l 11,700|#11X0
7 VR AMEE L K ETRHIL (155X ] &l 13,400 #1 X0
WX HEKRET ST FRAUAE 572 205A-155 54 5,760 H1[X.0
HEIREKET S B .57 GIE) T25 155 K 10,700 H1[X0
WX HEKRET ST PRI 57 GE) T25 205B e 12,600|#11X0
HEIHEKRET S SN 5 7= 2058 54 7,170| #1X0
BERRATR L IR ET S SR T IBIEERIA60 6300 gy 6,420| 0
Rk K E T 5T gﬁgﬁﬂq AL GARAE S 7oAT5 X185 X |y 6,010|Hx0
UTE K ET I 640X 640X 120 {E] 3,010[H#1X0
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U HEKET 57 TPk 490 X 490 X 70 b5e 6,470| H1[X0
UK ET 57 FRMLE 577 490 X 490 X 70 e 8,380[#1X0
UTEH B0 BRI 49(240] ¢ 9mm e 2,320[#1X0
UTEH B0 BRI 49(300] ¢ 9mm e 3,120[H#1X0
LIE K E4 57-[240] v )—h 434 X 205X 30740 e 2,610[H11X0
LI K £4.57-[300] v )—h 434 X 245X 30740 #e 3,190[H11X0
LIE &K E4572[250] PRHLA 57~ 300 X 460 X 60 #e 4,620|H11X0
LIE 4K E4572[300] PRHLA 57~ 350 X 460 X 60 #e 5,800| #1[X0
LIE &K E4572[350] PRHLAE 57~ 400 X 460 X 60 #e 5,760| #11X0
HEKEFT(B00H, 570 K ORI 5K ET 300 JE] 3,060(#1[X.0
HEAKET B 150 1A 1,170[#x0
N FLABE - £HEE[600] 900 X 1200 X 600 #5 {E] 21,600[H#1[X0
N FLAISE - RLEE[1200] 1200 X 1500 X 600 7% 1] 25,400|#1[X.0
NFLRIRSE A4 1509 JE] 80,300[ 1 X.0
9 RS 5T O )% fedt HiE FH(600) i1 55,0001 <0
Bk BN S8k ST (AR TE) HLiE FH(600) i 61,000|#1[X0
9 RS 5 T- O )% fedt HLiE FH(750) i1 88,000|#1X0
Bk BN S8k L ST (AR TE) HLiE FH(750) i 130,000]#11X0
NFLH 572 (Z#ER), BE ) T-20 IP4,600 Fk i e 30,0001 X0
NFLH S 7= (3, BB ) E4,600 gkl L 31,100[#[x0
NFLH STz (4, B ) M4 600 HEgkB 2'VBA (AT L 34,100(#1[x0
NFLHFHEE7 vy) PNAE60cm F 5110cm {E] 5,040(#1X0
NFLHFHEE7 vy) PNAE60cm F 51 15cm {E] 6,580 H#1X.0
NFLHFREE7 vy) PNAEE75em i /5110cm {E] 4,900|#1[X.0
NFLHFHEE7 vy) PNAEET5em 51 15cm {E] 5,740(#1X0
)Y —ME (SR E) 30, #hiE, ¢ 150/ N 6,700 1X0
)Y —ME (FRIEE) 307, B, ¢ 2004 N 8,100 1[0
2 )) =N ok ¢ 150/ N 2,800[#11[X0
2 )) =Ny b ¢ 200 N 3,060[H#1[X0
Siewall Wi A ke 907| Hu[X.0
Whx = ¢ 200 TEI(AM N —1]) {E] 5,120 #1110
Sy 7 ¢ 300 1l 4,170|H#1[X.0
Sy 7 ¢ 400 1l 4,370|H#1[X.0
Rk V8- ¢ 200 (- n—7"- 7V h—3E) i) 17,400(#11X0
IR ETVE— ¢ 200 1A 2,900(#1X0
BN vk 2T L AEL ¢ 200~300 1A 26,600| H#1[X.0
BN vk 2T L AR ¢ 200~400 1A 34,100 #1[X.0
PV ¢ 75 #/hA)=7" L=360mn {E] 1,610|#11X0
BRR(AN =) ¢ 75 E'yF130 [ 218 H[x0
PVl 7l lkg 77 f7& i 995| H1[X.0
ekl 5 7= (g 1.2m ) 1200 3000 L 685,000 X0
Fpkil 5 7= (g 1.2m ) 1200 X 4500 L 1,000,000 #1[<0
ST EAR (R v—)) 150 X 150 {E] 5,470(#1X0
I BU(UBY, SeBEofcste) 1200 X 1000 X 3000 il 366,000 X0
I BU(UBY, seBEofcste) 1200 X 1000 X 4500 il 525,000 X0
I BU(UBY, smBEofcste) 1200 X 1000 X 6000 il 683,000 X0
I BU(UBY, smBEofcste) 1200 X 1200 X 3000 il 429,000 [X0
I BU(UBY, smBEofcste) 1200 X 1200 X 4500 il 614,000[H#[X0
I BU(UBY, smBEofcste) 1200 X 1200 X 6000 il 791,000 H1[X.0
I BU(UBY, smBEofcste) 1200 X 1400 X 3000 il 468,000 X0
I BU(UBY, smBEofcste) 1200 X 1400 X 4500 il 676,000 X0
I BU(UBY, seBEofcste) 1200 X 1400 X 6000 i 904,000[ X0
I BU(UBY, smBEofcste) 1200 X 1600 X 3000 il 573,000[H#[X0
I BU(UBY, seBEofcste) 1200 X 1600 X 4500 i 817,000 X0
I BU(UBY, seBEofcste) 1200 X 1600 X 6000 i 1,060,000 |#[x0
I BI(URY, b 2B o)t B pl i 1 0 1200 X 1000 X 4500 i 573,000 X0
I BU(URY, b2 fe o)t Bl i 1 0 1200 X 1200 X 4500 i 651,000 X0
I BU(URY, b2 fe o)t Bl i 1 0 1200 X 1400 X 4500 i 751,000 H#[X0
I BU(URY, Sk 2B o)t Bl i 1 0 1200 X 1600 X 4500 i 867,000(#1X0
I BI(URY, Sk o fe o)t Rl i 1 0 1200 1000 X 6000 i 731,000 #[X0
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I RI(URY, SRk ) i E g iiiiE 1 2 1200 % 1200 X 6000 A 851,000 #1X0
I RI(URY, SRk ) i E g iiiie 1 1200 X 1400 X 6000 A 954,000 #1X0
I RI(URY, SRk ) i E RS g e 1 1200 X 1600 X 6000 A 1,110,000 [X0
I RI(URY, SRk ) i E R g i 0 2 1200 % 1000 X 6000 A 778,000 H[X0
I RI(URY, SmBEoie ) i E R e iE 2 2 1200 % 1200 X 6000 A 901,000 #1X0
I RI(URY, SmBEoie ) i E R g i 2 45 1200 X 1400 X 6000 A 1,010,000 [X0
I RI(URY, SmBEoie s ) i E R g i 2 2 1200 X 1600 X 6000 A 1,170,000 [X0
I RU(URY, dnBEofc & ie) 900 X 1600 X 2000 L 337,000 #[X0
I RU(URY, dnBEofc & ie) 900 X 1600 X 3000 HH 455,000 #1[X0
I RU(URY, s & e) 900 X 1600 X 4500 HH 639,000 #1[X0
I RU(URY, snBEofc & e) 900 X 1400 X 2000 L 284,000[ X0
I RU(URY, snBEofc & e) 900 X 1400 X 3000 HH 381,000 #[x0
I HRU(URY, s & e) 900 X 1400 X 4500 HH 533,000 #1[X0
I HRU(URY, s & ie) 900 X 1200 X 2000 L 246,000 X0
I RU(URY, snBEofc & e) 900 X 1200 X 3000 HH 330,000 #[X0
I HRU(URY, dnBEofc & e) 900 X 1200 X 4500 HH 462,000 #1[X0
I HRU(URY, dnBEofc & ie) 900 X 1000 X 2000 L 207,000 #[X0
I RU(URY, sk & ie) 900 X 1000 X 3000 HH 277,000[#1[X0
I RU(URY, s & e) 900 X 1000 X 4500 HH 387,000 #1[X0
I RU(URY, Sl ok &)l At e 1 5L 900 X 1000 X 2000 H#H 249,000 [X0
I RI(UBY, SmBE ok &)l ikt 1 5L 900 X 1200 X 2000 H#H 290,000 [X0
I RI(UBY, SBE ke &)l it e 1 5L 900 X 1400 X 2000 H#H 327,000[#1[X0
1T TR(UTR, B psca ) Hl_ bR S 1 5 900 X 1600 X 2000 H#H 389,000 [X0
TRIUTR, SBEQ A )l b e i 0 B 900 X 1000 X 3000 HH 370,000 H[X0
TRIUTR, SBEQ A ) 1 et i 0 B 900 X 1200 X 3000 HH 421,000(#1X0
TRIUTR, SBE2 A ) M - et i 0 B 900 X 1400 X 3000 HH 469,000 #1X0
[ RI(URY, smBE i) A i [ 2 2 900 X 1600 X 3000 HH 549,000| #1[X.0
Pl s 450X 500X 900 (] 44,700 H11X0
Pl s 550 X 800 X 1200 (] 73,900|#11X0
OISR 572 560X 1010 X 130 I 52,500] 1 X.0
OISR 572 660X 1310 X 140 I 86,700] X0
Fpkil 5 7= (g 1.2m ) 1200 X 6000 il 1,300,000 #[X0
ek 5 7= (g 1.2 AR SR 1L ) 1200 X 4500 | 1,220,000(#1X0
ek 5 7= (g 1. 28 AR g2 3L ) 1200 X 6000 | 1,670,000(#1X0
ekt 572 (I80.9m ) 900 X 4500 #H 895,000 X0
ek 572 (I£0.9m ) 900X 3000 #H 595,000 X0
ek 5 7= (I£0.9m ) 900X 2000 #H 386,000 H1[X.0
FHekE 5 7= (80,98 AR g2 3L ) 900 X 3000 #H 918,000 #[X0
FHekE 5 7= (0. 9B AR SR 1 3L ) 900 X 3000 #H 794,000 H1[X.0
FHekE 5 7= (0. 9B _EAYRE SR 1 L) 900 X 2000 L 612,000[H[X0
CCVPH#E7 A i 1,430|#11X0
RR-CCVP jHiE%#| i 907|H1X.0
CCVP ¢ 100 L=5.0m [E4& {E] 9,880|#:1X.0
CCVP ¢ 130 L=5.0m [E& 1 11,100(#1X0
RR-CCVP( M=z A4 ¢ 100 L=5.0m [E& 1 11,2000
RR-CCVP( M=z A4 ¢ 130 L=5.0m [E& 1 12,6001 1X0
CCVP ¢ 100 L=2.5m fi% 1l 9,310 #11X0
CCVP ¢ 130 L=2.5m ph& (& 10,500 (#1110
CCVP ¢ 100 L=1.2m gh& {E] 5,600 (#1110
CCVP ¢ 130 L=1.2m gh& {E] 5,880 |10
CCVP ¢ 100 fiifEiks L=590mm 1A 5,700 H1[X0
CCVP ¢ 130 fiifiEiks L=590mm 1A 6,430| H11X0
CCVP ¢ 100 [EAAkF L=200mn 1 1,360[#1X.0
CCVP ¢ 130 EARAETF L=210mm 1A 1,460|#1[x0
CCVP ¢ 100 #'/pr)—7" L=450mm Hf H A {E] 2,910(#1X0
CCVP ¢ 130 #'/p2)—7"' L=450mm Hf H A {E] 3,920 #1X0
SUD I VP ¢ 100 L=2.5m fi% 1l 9,840t 1X0
BERL(AN =) ¢ 100 vy F175 [ 351 X0
BN ) ¢ 130 Ly F175 JE] 343|H#1X0
7Y=T 72 A-VPE YINHKE T ¢ 150 {E] 6,280 |1 1X0
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PV ¢ 75 1.=2.5m M4 {E] 7,790 H1[X.0
PV ¢ 50 #/hA)—7" L=325mn {E] 1,260|#11X0
BRR(AN =) ¢ 50 v’y F95 [ 210[H1[X0
BRR(AN =) ¢ 50 £’y F130 [ 218[H1x0
RE TR g F AV - 1100/ 1 403,000 #1X0
RE TR g F AV - 1350/ 1 447,000(#1X0
A R AR A 7 b =400 1# 87,900|#1X.0
A R A L EAE 7 b L=500 1# 98,900 #1X.0
A R A L EAE 7 b L=600 1# 110,000|#11X0
R A L EAE 7 b L=700 1# 121,000| 41 1X0
A R A L EAE 7 b L.=800 1# 132,000|#11X0
A R A L EAE 7 b L.=900 1# 143,000|H#11X0
R e BE AN L=1000 1 154,000 #1X0
R e BE AN L=1100 1 165,000 #1110
R E B T RS b L=1200 1 176,000 #1110
R E B AR T RS b L=1300 1 187,000 #1110
R E B A T R b L=1400 1 198,000 #1X0
R E B A T R b L=1500 1 209,000[ X0
R E B T RS b L=1600 1 221,000 H#[X0
HFEa ) —h 110X 100 X 1200835 X 11# {E] 4,260 H1 X0
g7 —h 120X 100 X 1200835 X 11# {E] 4,650 H1 X0
g7 —h 130X 100 X 1200835 X 11# {E] 5,030| H1[X0
FEa ) —h 140X 100 X 1200835 X 118 (] 5,420 | H1[X0
S ) —h 110X 100 X 1500485 X 14 (] 5,330|#1[X0
S ) —h 120X 100 X 1500183 X 11 (] 5,810|#1[X0
Sy —h 130100 X 15001815 X 11 (] 6,290 |1 X0
AL ) —p 140 X 100 X 15001RFH X 14 18 6,780 H#1X0
S ) —h 110X 100 X 200048115 X 11 (] 7,100(#1X0
S ) —h 120X 100 X 200018115 X 11 (] 7,750|#1X0
S ) —h 130X 100 X 20001815 X 11 (] 8,390 #1 X0
S ) —h 140X 100 X 20001815 X 11 (] 9,040|#1X0
LEP ¢80 m 3,320(#1[X0
LFP ¢ 80 kT L=160 1# 6,010[#1X0
LEP ¢ 80 GP80 fHjikF L.=160 1A 12,600(H1[X0
LEP ¢ 80 PF104Hf%F L=175 1" 12,900(#1[X0
LEP ¢ 80 SVPjikF 1.=220 I 23,600/ H11X.0
ek 57 #38 M 1] 156,000[H#1[X0
ek 57 8 1] 171,000[#1[X0
/NEING T (1) 1.=2000mm, BfEMLRA 1IEPLAEE e &l 17,700 Hu X0
/NEING T (1) L.=1000mm, BfEMLAG 1IEPLEE e &l 11,000|H1 X0
/NELNT 7 (i) 1=1000mm, BERS 1EPL% & T &l 16,6001 1X0
INEINT T R 35 L=1000mn e 4,650 H1[X0
ANEINT T FE L 25 (Hh) L=1000mm e 5,430(#1X0
Oy I i T-AR L=1500mm, 1¥—M&%¢e &l 39,800/ #1X.0
Oy I i T-ARL L=2000mm, 1¥—M&%¢e &l 48,200[#1X.0
Sy T—- AT vt B N T HE e 5,010{#1X0
Ay T— AT ] S R B P 54 5,010[ #1110
YIS T-BAY L=1500mm, 1 ¥—FME&EETe &l 47,000[#1X.0
YIS T-BAY L=2000mm, 1 ¥—FMEETe &l 56,3001 X0
4y R T-BTR F v N TR e 7,640(H#1X0
Ay IR T-BRY F i B R 58 7,640[H1 X0
B RS s A =b, B SL eSS Te 1A 152,000] 11 X.0
{5 B i B R L 15,100 (#1110
L S L3 L) 51 V0 A8 X 220007, BEREIIE | g 73,400| 0
Hi 1R SR |- 6582 5 ) VR 51 7 00 B0 X300 T PEBLSIE | g | 126,000]H21<0
o AR iR N TR L 11,500 #1X0
o AR iR P e 11,100/ Hu[X0
R 600 X 980 X 12004 4—b& ¢ p 1] 62,600]H1 X0
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AT S i P e 12,900[Hu X0
R FH e N TR e 13,400 H1[X.0
AT S i YIS T- AR Bt 58 10,700 Hu[X0
RETI F S B SIS T-BEIFE L e 32,600|#1X0
Rk T A 1S 2 5 (¢ 1500 FR< e 442,000 #1X0
Rk 1 RS AT 2(¢ 750)%Fr< e 466,000 #1X.0
RN 7wy ¢ 2001 i 40,800(#11X0
RN 7wy ¢ 250 i 40,700[#11X0
BT UY—VE(E) ¢ 200, L=5000mn N 18,800| 1110
BT —VE(E) ¢ 250, L=5000mm N 28,800|#1X0
&7 4—VEH) ¢ 200, L=1000mm, R=5m %N 15,700| 1[0
&7 4—-VE) ¢ 250, L=1000mm, R=5m UN 24,1001 X0
RFL—VE o—LE ¢ 150 (%) , SOFAV—T Hie N 28,800| 1 X0
RFL—VE o—LE ¢ 150 () , SOFAV—T Hie N 23,200 H1X.0
®FA-VE n—p25E $ 200(5%), SREA)-7"E T N 42,400 H11X0
®FA-VE n—p25E $ 200(75), SREA)-7"E T A 35,200[#1X.0
®FA-VE n—p25E $ 250(%%), SREA)-7"E T A 57,600[ 11 X.0
®FA-VE n—p25E $ 250(75), SREA)-7"E T A 52,000[#1X.0
RT4—VE AFARE ¢ 150 N 16,200|H#11X0
®TU=VE AT ¢ 200 ZN 23,800|#11X0
®TU=VE AT ¢ 250 ZN 31,800|#1X0
®FA-VE £I)-7 ® 2001 N 9,600t 1X0
®FA-VE £IA)-7 ¢ 250 1] N 14,400 (#1110
K7 -VE &k ¢ 200 %S 468|H#1X.0
K7 -VE &k ¢ 250 %S 585|#1X.0
SR -SUE ¢ 30, L=5000mm, 7 /&N N 640|H1[X.0
SR -SUE ¢ 50, L=5000mm, 7 /&N N 944 | H1[X.0
XA A7 & 301 N 600| H1X.0
XA A7 & 501 N 904|H1[X.0
SR -SUR NIFAH Y & ¢ 30, L=5000mm, /INEILT7 PN N 640| H1[X.0
IR -SUR NIFAH Y & ¢ 35, L=5000mm, /INEILT7 PN N 920| H1[X.0
SR -SUR WIFAH Y fh ¢ 50, L=5000mm, /INEI}T7 PN N 944| H1[X.0
SR -VURE T ¢ 100, L=5000mn UN 3,320 #1110
SR -VURE T 4 i ¢ 100, L=1000mm, R=3m VN 7,120\ H1[X0
PREkRE(T-ALY) L=1500mm, = #edt, griazybr< | HiL 116,000| 1 X.0
BRI (T-ARY) 1.=2000mm, SZ#3t, SE7Cazy RS | 156,000|#1 X0
FRERL(T-BAY) L=1500mm, 5z Fedk, g azyhpr< | i 152,000| 11 X.0
FHERRLE(T-BAY, @13 Bae i) L=2000mm, SZ#dt, o=y br< | 205,000| X0
1 REes RS (B 1) 1.=2200mm, =% Fedt, ooy RS | A 343,000|H1[X0
Hh RS BB 25 (B AR 2 5 ) 1.=3600mm, Sz, o=y r< | 573,000 H1[X.0
RO (R L=1200mm, =% #edt, ooy RS | A 139,000 #1X.0
P& T b5 IR 4 e 20,800|#1 X0
FoXazyh ATV Ayy 7 TR 1] 5,470[#11X0
SN2y h ATV AEYy T+ 4 — G & 18,700|H1X0
ERAPA T H Ay N —{if & 1 63,700 11 X.0
H A A 100X 100 &) 1,820] 31 X.0
MR AR R Bl {E] 1,840|#1X0
B AR 600 X 400 K 2,380| H1[X0
Hvh JE4s, Ty Mt BEEW1/2 X125 ke 153|#1[X.0
HRVE B LA Ay b7 2 HEEL.2m X 1.5m m 4,640/ H1[X0
HRVE PG LA F Ao b7 20 A(PT BR) #Er=1.2m 15 E2.0m e 22,400 H1X.0
HE V% Bh IR oy b7 2 ABED L) HErE1.2m BE1.0m K 14,700 H1[X0
A Sk & 1.2m N 2,390 #11X0
i A =i 1.2m ZN 3,170[H#1 X0
BRVE A 1A Ao b7 2 AR L-40 X 40 X 3mm m 630[H1[X0
A Sk M 0.9m N 959| #1[X.0
U A & 0.9m ZN 1,540 Hu[X.0
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HR 3k M 1.5m %N 1,560 H#1X.0
Ui SAE Mt 1.5m N 2,380 #11X0
HR 3k M 1.8m UN 2,020(#1X0
HF A Sk k& 1.8m, Fedifs N 2,870(#11X0
i A & 1.8m Z 2,840| H1[X0
Ui S k& 1.8m, #edifs ZN 5,000 #11X0
HR 3k M 2.0m %N 2,940(#1X0
A Sk k& 2.0m, FZedifs N 3,730(#11X0
i Sk & 2.0m Z 4,060 H1[X0
Ui SAE k& 2.0m, #Zefs N 7,100(#11X0
HR Sk e 2.5m %N 3,550 #1[X0
H A Sk k& 2.5m, e N 5,980 1 1X.0
i A & 2.5m Z 4,890 Hi1[X0
R SR Mt 3.0m N 5,180 [X0
HR 3k & 3.0m, HedEfs %N 9,660| H1[X0
Ui S Mt 3.0m N 6,760 H1X0
i Sk HiFES 3.0m, At Z 11,500]Hu[X.0
HEN AV ERAR 2222 (8 H 13cm) [E£60cm, FIR3.2mm m 740| H1[X0
TR A FBRAR L 202 (W8 H 13cm) E4%60cm, FI#4.0mm m 1,020|#1X.0
HEN AV ERAR 2222 (8 H 15cm) [E£60cm, FIHR3.2mm m 630[ X0
TR AYFERAR L 202 (W8 H 15cm) E4%60cm, F#E4.0mm m 880|#1X.0
HEENAYF AR T 232 (8 H 13cm) H60cm W120em 3. 2mm m 2,160| H1 X0
=7 VR R 2 )= = 2480 X 80 X 300 & 1,190(H#1X.0
7" VR i 18 700[H#11X.0
TR =TV =2 =7 EM-FCPEE 0.65mm 5P m 123|#1[X0
TSR 2F Loy =2 =7 EM-FCPEE 0.65mm 10P m 172(#11X0
TRV =2 =7 EM-FCPEE 0.65mm20P m 276|H1X0
TSR 2F Ly =2 =7 EM-FCPEE 0.65mm 30P m 386|#1X.0
TR oL =2 =7 EM-FCPEE 0.65mm50P m 606|H#1X0
NSRRIV v —2r—7" ) EM-FCPEE 0.65mm 100P m 1,160|#1[X0
PSR VoL =2 =7 EM-FCPEE 0.90mm 5P m 156|H#1[X0
NSRRIV —2r—7 EM-FCPEE 0.90mm 10P m 244| H1[X.0
PSR oLy =2 =7 EM-FCPEE 0.90mm 20P m 434| H X0
NSRRIV —2r—7 EM-FCPEE 0.90mm 30P m 631|H1X.0
HRSR Ly =2 =7 EM-FCPEE 0.90mm 50P m 1,030(#1[x0
TNRHR Y=V v —2r—7" EM-FCPEE 0.90mm 100P m 1,980| #1[X.0
TR IR [RIHEM Y —7" )V EM-5C-2E m 106|#1X0
T IR R EM Y —7" )V EM-7C-2E m 209[H1X0
1 R R EM Y —7" v EM-10C-2E m 301 |10
T R R EM =7 )V EM-5C-FB m 111|#X0
TR IR [RIHEM Y —7" )V EM-7C-FB m 221|H#1x0
T IR R EM =7 )V EM-S-5C-FB m 134|#1X0
TR IR [RIHHEM Y —7" )V EM-S-7C-FB m 258 H#1[x.0
SRRV TF LR —7 EM-AE 0.90mn 2C m 20(#11X0
R V-7 EM-AE 0.90mn 3C m 30[H#[x0
SRRV TF LR —7 EM-AE 0.90mn 4C m 48[H#11X0
R Vg7 EM-AE 0.90mm 5P m 147|#1X0
AT IV -7 Y EM-AE 0.90mm 10P m 271 H1[X0
R Vg7 EM-AE 0.90mm 15P m 388|Hh[X0
ATV IV -7 Y EM-AE 0.90mm 20P m 533|#1X0
R V-7 EM-AE 0.90mm 30P m 779|110
ARV VA r—7 EM-AE 1.20mm 2C m 40(#11X0
R Vg7 EM-AE 1.20mn 3C m 60| H1X0
ARV Adar—7 EM-AE 1.20mmn 4C m 80[#11X0
R Vg7 EM-AE 1.20mm 5P m 237|H#1x0
AR VR EM-AE 1.20mm 10P m 449| H1[X0
R Vg7 EM-AE 1.20mm 15P m 682[H1[x0
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R V-7 EM-AE 1.20mm 20P m 882 #1[x0
SRRV TF LR —7 EM-AE 1.20mmn 30P m 1,310|#1X.0
BYIF V=2 =7 Vil BB EM-FT-3 0.90mm 2C m 39[#1[x0
FVZFV oy — A =7 Vil A AR EM-FT-3 0.90mm 3C m 50[H1X0

FVTFVYy—Ar—7 Vit EE EM-FT-3 0.90mn 4C m 70[#1 X0
FVZFV oy — A =7 Vil A AR EM-FT-3 0.90mm 5C m 90| H1 X0
FY)LFV oy —2r—7 Vil BB EM-FT-3 0.90mm 6C m 112|#1X0
FYVZFV oy — A =7 Vil A AR EM-FT-3 0.90mm 7C m 130|#1X0
BYIFV oy —Ar—7 Vil BB EM-FT-3 0.90mm 5P m 185|#11X0
WY ZFVoy—Ar—7 VB R EM-FT-3 0.90mm 10P m 354|# X0
FVLFVYy—Ar—7 Vit EE EM-FT-3 0.90mm 15P m 514|#1X0
FVTFVYy—Ar—7 Vi EVE EM-FT-3 0.90mm 20P m 667|H1X0
FVLFVYy—Ar—7 Vit EE EM-FT-3 0.90mm 30P m 979|H#1 X0
FYVZF VoY= A =7 Vil A AR EM-FT-3 1.20mm 2C m 60| H1X0
BYVLFV =2 —7 Vil BB EM-FT-3 1.20mm 3C m 80| H#1X.0
FVZF VoY= A =7 Vil A AR EM-FT-3 1.20mm 4C m 107|#1X0
FVLFVYy—Ar—7 Vit EE EM-FT-3 1.20mm 5C m 140(#11X0
FVTFVYy—Ar—7 Vi EVE i EM-FT-3 1.20mn 6C m 155(#11X0
FVLFVYy—Ar—7 Vit EE EM-FT-3 1.20mmn 7C m 184(#11X0
FYVZFV oy — A =7 Vil A AR EM-FT-3 1.20mm 5P m 260|H1X0
BYIF V=2 —7 Vil BB EM-FT-3 1.20mm 10P m 52010
WY ZFVo v =2 —7 VB AR EM-FT-3 1.20mm 15P m 775\ # X0
BYLFV oy =2 =7 Vil BB EM-FT-3 1.20mm 20P m 1,030[#1[x0
FVZFV oy —Ar =7 Vil A AR EM-FT-3 1.20mm 30P m 1,530|#1[X.0
BTV~ 200V 15A 2P 1@ 670|HLX0
KNI ET L —h ff{g;ﬁﬂ TR R | 13,500 H1[X0
K-V IR 7 L~ g%}) AN AT AR SEERIRET | g 13,500| H .0
MCCB (7'v—%) 250V 2P 50ALLF (& 2,650(H1X0
MCCB (7'v—%) 250V 2P 517100A 1 7,070[#1X0
ELBUR®E7V—h) 30ALLTF {E] 4,680 X0
ELBUR®E7V—h) 60ALLT {E] 6,130/ H11X0
ELBUR®E7V—h) 100ALLF {E] 11,000]H1[X0
Bk B RTE 7V —h— 30AF 15AT 30mA 18 6,720(H1X0
Bk AR TE 7V —h— 30AF 15AT 30mA TSft+ 1l 13,300 H1 X0
B K AR E T L — A — /N 30AF 15AT 30mA 1 6,300 X0
B L —— /N 30AF 15AT 1 4,760 H1[X0
/NI 6 BRI B 67 7° FHT-57W ] 1,920 1[0
HOGKT & e A T hERIE 100V 57W JE] 9,130[#1x0
HOCKT 2 B A ERERIZ 200V 57TWH {E] 9,130(#11X.0
AR AR ég;q%jx%%ﬁ“%%&mgﬂl i 8,400| H1[%0
YIIVIAZNNGART T CM—70F 1l 8,700(H1[X0
BIIVIARNNGARG S CM—110FL 18 11,300| 1[0
BIIVIARNNGARG S CM—150FL 18 11,500| 1[0
BIIVIARNNGARG S CM—190FL 18 11,700 1[0
BIIVIARNNGARG S CM—220FL 18 12,000| 1[0
BIIVIARNNGARG S CM—270FL 18 12,300| 1[0
BIIVIARNNGARG S CM—360FL 18 12,800| 1[0
BIIVIARNNGARG S CMT—110L 1@ 11,300| 1[0
BIIVIARNINGARG S CMT—150L 1@ 11,500| 1[0
BIIVIARNINGARG S CMT—190L 1@ 11,700 1[0
BIIVIARNNGARG S CMT—220L 1@ 12,000| 1[0
BIIVIARNNGARG S CMT—270L 1@ 12,300| 1[0
BIIVIARNNGARG S CMT—360L 1@ 12,800| 1[0
T YTV AINNTAY T 7 150W CM150FLE-W e 11,500(#1X0
T LTI I AINNTAN T T 190W CM190FLSE-W | 11,700|H1X0
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YTV I AIMNTAN T 7 220W CM220FLSE-W (& 12,000| #1110
BIIV T AI N INTART T 2 T 200V 70W I 19,5001 1X0
YT I MINTAN 707" B TE A ERNERIE 200V 150W JE] 9,070(#X0
FIC YTV I ANNTAN T 7 22 e 150WH & 28,900 #1[X.0
FICTYTIVIANNTAN T2 7 22 e 190WH & 29,800 #1[X.0
FICTYTIVIANNTAN T 7 22 e 220W & 31,800|H#1[X0
EETNYLT 7" B E R ST NH150F {E] 12,600|#11X0
BTN LT 7" R E R ST NH250F {E] 14,000|#11X0
ETETNYLT 7" B E R ST T NH400F {E] 15,600|#11X0
EEFNTATY T E R RI(NHT)TOL I 7,930 H1 X0
e JE I AT B AT 7 A ENERIE 200V 32W (& 13,900 #1X0
B R AT BT 7 2 AR T EhERIE 200V 45W (] 15,000 #1[X.0
v JE R KT R 67V 7 2 R B TG FHP45 {E] 1,380| X0
BRI VO 55 SRR G LA =7V —1) E8m VARLEEN Ay VN 163,000| 11 X.0
BRI — VO 57 SR CRRLL E 7V —b) i 10m VARLEEEA AvE A 184,000 0
BRI — VO 57 SRR CRR LA E7°V—1) fml2m FRERHEN AvF N 213,000| 1[0
BT =V GREIEAT A =271 —0) m8m VRIS Ay %N 195,000|#1X.0
B — )V GREGE ST AN 27 V=) 5 10m YARLHEEH Ay ZN 218,000|#1[X0
BT =V GREIEAT A =271 -0 = 12m PARHRESAR Ay %N 247,000| 1[0
BRI R = GRHGE LT LA =8m AR SR Ay N 175,000 #1X.0
EARTEER =V (AR EE KT HHAR) = 10m AR Ay %N 200,000| X0
BRI~ GRHGE LT LA fml2m FREHEN AvE ZN 227,000] H#1[X.0
IBRT— N =T — W TEARPURFR ) HIEO0.8, 1.8mifigpAyvE- 5 (4, %N 117,000|#1X0
BT — N7 — WL TEFRPNARE ) HABE2. 1m400W FH Ay - 5 (8, ZN 126,000 #11X.0
IBRT— N =T — W2 E ARG ) HIlE2.5m700W FH Ay - 56 %N 134,000| #1 X0
BRBERC R /R G T — HilE 0.35m Z 70,500|#11X0
LR — WA VN ) A8 A JE 3. bmmAvF - E A | A 24,900|#1 X0
JTRE T (BT — ) Be A H=1500 FREFEH=4700mm ¥R SN AvF N 89,700|#1X.0
JTHEIL (T = —1) H=6000mm ¥A ik fEh Av% Z 106,000(#1[X.0
JTAET H=8000mm I Fh A EH Ao ¥ i 125,000|#1X0
BB R -V (T —AMT) AR5 2mih FE4. smiA@ SN AvE | AR 112,000|#1X0
HB7 — NERATE AV ) A ASmEE 3. 5mn HgRAVE [ A 21,000|#1X0
TN — VB (RET ARERS) KM LT & 4.5mHHiE 1.3mBPAv* ZN 125,000 #1X.0
A3 PR A F BT -V AR (— 4T ) A E4.5mHIF0. SmisE AL Av ¥ %N 134,000|#1X.0
A3 PR A B A &R -V T AT ) 2 E4.5mIR0.8m YR H A AvE %N 190,000|#1 X0
A8 B H B &K — V(R ATE) [ 4.5mHIE1.271.8m A EH AvF N 141,000(#1[X.0
SR8 FH R BA B A &R — W EARTE) 4. 5m HE0. 8SmBPHELEN A% %N 157,000|#1 X0
S50 FH R BA B A &R — W EATE) E4.5mibE1.271.8mBPAY¥ %N 164,000 [H1 X0
A8 H FEBA B Ao &K — W (T2 24T ) 5 &4, 5m HIFE0.SmBPRESH Av¥ ZN 205,000[ X0
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